
Note: many mcqs are being repeated from the assessments and for them key has been marked as it is,, 
Do the assessment paper 1st to have an idea

It's UpTo you what u find accurate
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4 x wt x tbsa = 4 x 70 x 40% = 11200 ml
Half in 1st 8 hrs = 5600ml
Half in next 16 hrs
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End organ resistance,,, high vit D level 
Systemic symptoms like alopecia
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Mcd,, SLE RA SS 
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As per the key of assessment 
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Near to meanupause,,, on anti epileptic drugs,, with osteopenia
All high risk factors,, 
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Cml,,, hydroxyurea was used previously 



Highlight



Highlight



Highlight



Highlight



Highlight





Highlight



Highlight



Highlight



Highlight

It's RA in assessment key 🐼
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Not sure
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Before 16,, for consecutive ≥6 weeks in ≥1 joint
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Danger signs,, vomiting, not able to eat drink, and others,,
Pervaiz akbar 
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Either B or E
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It's peroxidase in the key
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